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1 May I help you?

2 Can you help me?
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1 How about you?

2 How much is it?

3 How is the weather?
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Ken : What are you doing here?
Mother : 1 am looking for the cake. I bought it at the cake shop this morning.
Ken : Was it a strawberry cake?
Mother © Yes. Aha! Did you eat it?
Ken : No, I didn't. Why do you say so?
Mother : Look at yourself in the mirror. You have cream on your face.
Ken : 1 am very sorry. ( @® ) because I was very hungry.
Mother : That was for your grandmother.,
Ken : Grandmother?
Mother : Yes. She is going to come to our house.
Ken : Oh, really? I didn't know @ that.
Mother @ She'll come soon.
Ken : What can | do?
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